6.00 Handout, Lecture 24
(Not intended to make sense outside of lecture)

X y | X y X y X y
10.0 | 8.04 | 10.0 |9.14 | 10.0| 7.46 | 8.0 | 6.58
80 | 695 | 80 [814| 80 | 6.77 | 8.0 | 5.76
13.0| 758 | 13.0|8.74 | 13.0|12.74| 80 | 7.71
90 | 881 | 9.0 |8.77| 9.0 | 711 | 8.0 | 8.84
11.0| 833 [11.0(9.26 | 11.0| 7.81 | 8.0 | 8.47
140 | 9.96 | 140 | 8.10| 140 | 8.84 | 8.0 | 7.04
6.0 | 724 | 6.0 [ 6.13| 6.0 | 6.08 | 8.0 | 5.25
40 | 426 | 40 | 3.10| 4.0 | 539 | 19.0 | 12.50
12.0]10.84 | 12.0 | 9.13 | 12.0| 8.15 | 8.0 | 5.56
70 | 482 | 70 | 726 | 7.0 | 642 | 80 | 7.91
50 | 568 | 5.0 | 474 | 50 | 573 | 80 | 6.89
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def juneProb(numTrials):

juned48 = 0.0
for trial in range(numTrials):

june = 0.0
for 1 in range(446):
it random.choice(range(1,13)) == 6:

Jjune += 1.0
it june >= 48:
june48 += 1
juneProb = str(June48/numTrials)
print "Probability of at least 48 births in June = * + juneProb

def anyProb(numTrials):
anyMonth = 0.0
for trial in range(numTrials):
months = [0.0]*13
for 1 in range(446):
months[random.choice(range(1,13))] += 1
it max(months) >= 48:
anyMonth += 1
aProb = str(anyMonth/numTrials)
print "Probability of at least 48 births in some Month = " + aProb
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